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%E;l:ﬂigq/ 9 10 | 30 | 50 | 10 | 30 | 50 | 10 | 30 | 50
: 300 | 450 | s00 | 230 | a0 | 370 | 140 | 210 | 230
2 850 | 1,040 | 1700 | 640 | 780 | 20 | 300 | 480 | s10
3 1420 | 1,630 | 1,600 | 1,070 | 1230 | 1270 | 60 | 750 | 780
4 2,000 | 2230 | 2200 | 1,500 | 1670 | 1,720 | 930 | 1,030 | 1,060
5 2500 | 2,830 | 2,800 | 1,040 | 2,120 | 2,170 | 1,190 | 1,300 | 1,330
6 3180 | 3430 | 3490 | 2380 | 25570 | 2620 | 1470 | 1,580 | 1.610
7 3770 | 4020 | 4000 | 2830 | 3020 | 3070 | 1,740 | 1,860 | 1,890
8 4360 | 4630 | 4600 | 3270 | 3470 | 3520 | 2,010 | 2,140 | 2,160
9 4960 | 5220 | 5200 | 3720 | 3920 | 3970 | 2200 | 2410 | 2,440
10 5560 | 5820 | 5890 | 4170 | 4370 | 4420 | 2,560 | 2,690 | 2,720
1 6150 | 6420 | 6490 | 4610 | 4820 | 4870 | 2840 | 2,060 | 2,990
12 6740 | 7.020 | 7.080 | 5080 | 5270 | 5310 | 3110 | 3240 | 3270
13 7340 | 7620 | 7690 | 5500 | 5720 | 5770 | 3390 | 3520 | 3,550
14 7040 | 8220 | 8290 | 5950 | 6170 | 6220 | 3660 | 3,800 | 3,830
15 8530 | 8820 | 8890 | 6.400 | 6620 | 6670 | 3040 | 4070 | 4100
16 9130 | 9420 | 9490 | 6850 | 7,060 | 7,120 | 4210 | 4350 | 4,380
17 9,730 | 10,020 | 10,000 | 7,300 | 7510 | 7,570 | 4490 | 4620 | 4,660
18 10,320 | 10,620 | 10,690 | 7,740 | 7.960 | 8020 | 4770 | 4000 | 4,930
19 10,020 | 11,220 | 11,200 | 8190 | 8410 | 8460 | 5040 | 5180 | 5,210
20 11,520 | 11,820 | 11,890 | 8640 | 8870 | 8920 | 5320 | 5460 | 5490
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(E 3.6) YL X24(s), B W7 |0H(g), XST=(u)2 24

= 1X=28 B2 (a/s)

X24(s) 0.5 1.0 1.5 2.0 3.0 4.0 5.0 10.0
1 0333 | 0500 | 0.600 | 0667 | 0750 | 0.800 | 0833 | 0.909
2 0577 | 0706 | 0775 | 0817 | 0863 | 089% | 0913 | 0953
3 0686 | 0791 | 0.841 | 0872 | 0908 | 0928 | 0940 | 0.969
4 0748 | 0835 | 0876 | 0902 | 0929 | 0945 | 0955 | 0973
5 0787 | 0863 | 0.899 | 0919 | 0942 | 0955 | 0963 | 0.981
6 0817 | 0883 | 0914 | 0932 | 0952 | 0962 | 0969 | 0.984
7 0838 | 0898 | 0925 | 0940 | 0958 | 0968 | 0974 | 0.986
8 0854 | 0909 | 0933 | 0948 | 0964 | 0972 | 0977 | 0.988
9 0.868 | 0919 | 0941 | 0953 | 0967 | 0975 | 0980 | 0.989
10 0878 | 0926 | 0946 | 0957 | 0970 | 0977 | 0982 | 0.990
1 0888 | 0932 | 0950 | 0961 | 0973 | 0979 | 098 | 0.991
12 0896 | 0936 | 0954 | 0964 | 0975 | 0981 | 0984 | 0992
13 0903 | 0941 | 0958 | 0967 | 0977 | 0982 | 098 | 0992
14 0908 | 0945 | 0961 | 0969 | 0979 | 0982 | 0987 | 0993
15 0913 | 0948 | 0962 | 0971 | 0980 | 0984 | 098 | 0993
16 0918 | 0951 | 0965 | 0973 | 0981 | 0985 | 0989 | 0.994
17 0923 | 0954 | 0967 | 0975 | 0982 | 0986 | 0989 | 0.994
18 0926 | 0956 | 0969 | 0976 | 0983 | 0987 | 0990 | 0.994
19 0929 | 0958 | 0970 | 0977 | 0984 | 0988 | 0990 | 0.995
20 0932 | 0960 | 0972 | 0978 | 0985 | 0988 | 0991 | 0.995
21 0932 | 0960 | 0972 | 0978 | 0985 | 0988 | 0991 | 0.995
22 0939 | 0963 | 0974 | 0980 | 0986 | 0989 | 0992 | 0.995
23 0940 | 0965 | 0976 | 0981 | 0986 | 0990 | 0992 | 0.99
24 0942 | 0966 | 0976 | 0981 | 0988 | 0990 | 0992 | 0.99
25 0944 | 0967 | 0977 | 0982 | 0988 | 0991 | 0993 | 0.99
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